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Lesson 40

SARMA! YOU
WILL LIVE FOR
THOUSAND
YEARS!

Brother! The alarm is ringing.
Don't you hear it? You didn't
get up yet! get up early. It
is getting time for the train.

If time is up, Sarma told me that
he would call me up. He
didn't call me up so far.

He might have forgotten. You
get up. Brush your teeth.
Take this brush and the tounge

cleaner.


Eklavya Sharma
Lesson 40
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One of my teeth is aching. So no

brush. Give me tooth-powder.

Take it. The towel is there on
that stand. Pick it up.

This towel is wet. Get me a dry

towel.

Is it wet? No. It is not wet

much. You take it.

Where is this tooth-powder

from?

Mother bought it yesterday when
it was sold in front of our
house (by the street vendor).
He said that it is a good one

for tooth-ache.
Sarma did not come yet. How

can I go now?

Won't you go if he doesn't come?

If he comes only, I will go. If
he doesn't come, my going is
a waste. Unless he comes,
my work can not be done.

Hey, there! Sarma has come.
Sarma! you will live a long
time (for thousand years).



DRILLS
a. Repetition drill

3D DOSEBE; é(ﬁg OTED.
o°) BBIBR0; DTS SETC.
2008 BIBEY; DSETD0E.

M 9&fn DEY oo 2D)0b.

A TIS S&Y 2enen DO,
b. Build-up drill
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c. Substitution drill
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Model (iii)
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d. Resposne drill
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L=
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e. Conversation drill

Model
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f. Tranformation drill
Model S350 caaned oY TEE 0% o,
SIS0 FNed AT FTEE S0 Q.
1. 588 ermrogn 0 eHTY).
2. @38 NHE GOl @ 2rE S
3. 2 BB @ PYJZ0 FES006.

EXERCISES

a. Fill in the blanks with past tense form of verbs given in the paren-
theses.

1. 3089 TIS..... ($50) 3. 8D Sodkdm ... ($¢3)

2. 830 085S ... (Foow) 4. 30 &S ... (20e05)

b. Answer the following questions as shown in the model.
Model (i) B TS aHEE S0 ? (Soe-2ews)
$Y; VIR [T TEE AHEE SRN0d.  DOSES TD.
1. & D050 B8 FOYH0T? (rm-i5e0)
2. DY & whwa? (AS-o)
3. VOYOS DI W 08 IgT? (Fs)

Model (i) 95 JocHH 68 SrercEy?
A STTEB. Te TE STETEE.
1. 08 SAD Do DOTY?
2. 305 WerTHE0B B0 Do BTy ?
3. g %égfﬁ) QDO 893 ?

¢. Combine the following pairs of sentences as shown in the model.
Model B8 WOTE. I8 e
856 20R % e,
1. 500 e@&iod. & EOTI.
2. 8D BErE. 0 é?égcéécﬁa.
3. T 'y e Swo Fo80h. @) ELHOLH T,
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d. Change the following sentences as shown in the model.
Model  38) @&ABD ITOI DID.

30) @GABTY ITDOI DD,
1. S5 FOTEBD 3D YSFE. 3. g BB o SA.
2. 093 0OY @B SOT.4. e B TE) L.

e. Answer the following questions based upon the text of the lesson.

1. $00 T¢) @00 DO BEo0nB?
2. 82 ONOEE 50 IO BADHTLN0LOTE.
3. O (2230 DO B0enTmE?
4. & DHTE IHEO?
5. 3G TEDD B JFYRO0 DO BISVE0?
6. Qo0 dHNL?
VOCABULARY
esodozy  life time QHPE  tooth-powder
©ergo alarm OISV towel
DT ring (v.intr.) ¢0Cs0 hanger
D) teeth &C wet (adj.)
Ss08  brush (v.) D& dry (adj.)
Y brush (n) 200¢3 oblique base of )
TOsE  tongue cleaner [0V unless
A3, tooth

GRAMMAR NOTES

40.1. In this lesson the past negative form of the - /& -s/c ending bases
(33.1; 34.1) are introduced. Remember that the past negative is formed by adding
B0 -leduto the infinitive (29.2), and that the infinitive is formed by adding —eo
a to the base (29.1). The final - /& -s/c of a verbal base becomes & -v when
followed by a suffix beginning with - -a or es 7 as stated in 33.5. and 34.3.
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BDG-0+BK0 = Bo-0+B = BSBK.  ‘Did not get up’ (34.3.)
léc-a+lédu = [év-a+lédu = [évalédu.
WOVH-+BE = VOG- +B = DSBS, ‘Did not call’ (33.3; 34.3)

piluc-a+lédu = pilav-a+lédu = pilavalédu.
GG -+BE = &Ga-e+BC = &GSB. ‘Did not sweep’(33.3;34.3.)
dduc-a+lédu = ddav-a+lédu = ddavalédu.
Ee00-+BC = $0o-+BG = 0580, ‘Did not meet’ (33.3;34.5)
kalus-a+lédu = kalav-a+lédu = kalavalédu.

40.2. Notice the use of the conditional form in the sentence

Q) BOBB00ED FQ @y FHO. ‘Mother bought it when it

ninna iM imuMduku vasté amma konnadi. came at the house yesterday.’

Recall the use of the conditional with the main verb in present tense (32.12.).
In the above sentence the main verb is in past tense. Here also the conditional
does not express 'conditional' (equivalent to if clause in English). The condi-
tional forms express a 'real' condition only when the main verb is in non-past

and non-present.

S0Yg SR VL. ‘I will tell if you come.’
nuvvu vasté ceptanu.
Tk 808 Y 8. “You eat if he eats.’

vadu tiMté nuvvu tinu.
The conditional form functions as (i) a temporal equivalent to 'when' and (ii) a reason

when the main verb is in past tense.

3D VR SrErE. ‘I spoke to Ravi when I saw him.’
Ravi kanipisté ma ladanu.
3 B0 3% SIN. ‘I ate since/because Ravi ate.’

Ravi tiM é nénu tinnanu.

The conditional form expresses a sort of reason when the main verb is in

present tense (See 32.12.)
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40.3. The 'unless' constructions are also introduced in this lesson. These
constructions are formed in the following pattern.

Unless construction = Unless clause + Main clause (in future negative)

Unless clause = Conditional form + "9 gani

NESEIaR ‘Unless somebody come(s)’

vasté-gani.

093 TR 8 IED. ‘I will not go unless you come.’

nuvvu vastégani nénu vellanu.

T IQT T D 238e. ‘Unless he comes, my

vadu vastégani na pani jaragadu. work will not go on.’

404. Notice the use of the gerund form (25.1) in sentences like:

A [P ER0 ET? ‘How can I go now?’

nénu ippudu vella aM e la?
Gaeo BEE WVISrD FWo Jer?  ‘How to go to the movie if

dabbulu lekapoté sinimaku vella aM e la? money is not there?’

40.5. D¢ pallu'teeth' is the plural form of &) pannu and the oblique
base of D0y is 00& paM i.
40.6. Notice the use of the dative case suffix in sentences like:

& VEPE DoGBIME LooNb. ‘This tooth powder is good for

I pallapodi paM ineppiki maMcidi toothache.’

& 00 230008 OB, ‘This medicine is good for fever.’

I maMdu jvaraniki maMcidi.

‘It is a kind of purposive function of the dative case suffix in these sentences.
(14.1.1.)
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